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0 O O SglCommand cmd=new SglCommand("0select * from
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SglDataReader dr=cmd.ExecuteReader(). ...... Joooood

1 SgiCommand cmd1=new SgiCommand("0select sum(Vnum)
from TvoteNum",conl).//00 O O 0O O O sgl] O int
sum=Convert.Tolnt32(cmd1.ExecuteScalar()). ...... dr.Read().//
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this.Labell. Text=dr.GetInt32(1).ToString().//0 U 0O O O [
double wl=(Convert. ToDouble(this.Labell.Text)/sum).//0] O O
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this.Imagel.Width=wid1.//0 0 O O 0O O 0O O dr.Read().//0 U O
0 O 0O this.Label2. Text=dr.GetInt32(1).ToString(). double
w2=(Convert. ToDouble(this.Label2. Text)/sum). int
wid2=(int)(w2*310). this.Image2.Width=wid2. dr.Read().//00 T O
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w4=(Convert.ToDouble(this.Label4.Text)/sum). int
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